1, The instrument
and ending time >5ms.RS485 il

DR MODBUS USER INSTRUCTIONS

RS485 communication BPS is fixed at 9600 bits/s, start bit=1, data bit=8, stop bit=1, starting
F. Wk 9600 BIT/S, f5 1A, #CEANL & 147, Hdifr 8 4if

2, The format of the data reading and writing is same as standard Modbus protocol. Definition as follows:

Request: (1, &iEsHFE PVL JlEE a4 : 01 03 00 62 00 02 65 D5)

Response:

01 03 0098(0062H) 0002 26069 (65D5)
ADD COM PV1 Counts CRC
(R [P ¥ : 01 03 04 6D 96 49 F3 71 66)
01 03 04 6D96 49F3 7166
ADD COM Counts PV1 CRC

IR 7] F BHAR 2538 8 2 WORD , Bl PV1= 6D96 49F3 =
49F3H=28054 (=6D96H) +18931 (49F3H)

=28054.2888

6D96.49F3H = LA E# ik 6D96H+ /N

When Max bit is “1”, means negative, e.g..iR [MI{H & i h 1 Kox s, Bl&E &AL S0, Wiikm|
KW=ED9649F3= ED96.49F3H = -(6D96H+0.49F3H) = --28054.2888
B2 H FIE BT AN R S AN T BO N K G 7 16 AL R BB R DL 65536 BV A -k N A

1 45 v 49F3H=18931 / 65536=.2888, 1 4 {i7/N %1 4 0.2888

When Max bit is “1”, means negative, e.g.: & f AR S0, o LR, K0 RRIER, WHE
PV1=ED9649F3= ED96.49F3H = -(6D96H+0.49F3H) = -28054.1893

ED96 bit 15=1 is negative, viz. -6D96H
3, When setting parameters, can read multi- parameters; when writing, can write 1 parameter only every time

¥

SN K 16 HEH HEX #8528, 41 100.5, %% 100=0064H,0.5=0.8000H, /I "5 A\ >4 100.5=0064 .8000H

4, Commands: rJ] iy 4
02H: read digital value / discrete 1/O parameters %< 1{H
03H: read holding registers parameters BzS${E
06H: write single holding register parameter value 5 #7715
10H: write multi holding registers parameters value £ 715

5, Communication parameters:

counts
. Parameter .
Factory setting Parameters numbers Function Remark
address (HEX)
(words)
Read onl
PV1 0098 (62H) 2 i, B 0 A , Y
Hik
CT 0016(10H) 2 CERER R Read only
PVF 0020(14H) 2 LB A& IR AR R/W
001 ADD 0041 (0029H) 1 AR I AF Mo R/W




